PART I : GENERAL INTELLIGENCE

Directions : In questions no. [ fn & zelect the | Directions : In guestions no. 10 fo 18, find zhe odd
reloted  word Hletters number  frum the  given | word Hetters? number from the given alternaiives
alternatives.
. (AT Li B Pty
1. Steing: Violin:: ? :Piano 1 St b i Enpry
(A) Music (B Tune (2} Adrenul (I Thyroid
() Chord D) Key
11. J Fi B; Ears
2,  Frame: Picture:: 7 i e e
(A1 Box: Lid (C) Handa (D} Legs
(B) Chair : Cushion
() Cover : Book 12, (A) July (B) November
L0 o g R (€} Decsuber M) Ostober
3.  Bihw:Assam ::Onem: ¥
(&) Earnataka 13 (Al A B} B
(B} Kerala o B =
() Jammu & Kashmir
4 {0}, Bajanthon 14 (A} KM 8 DF
L 4. BDG:HIM: NP8: 7 @l Xz D) RU
{A) TVY (B VUYL
) WXE (i TWE 15, (Al 38 {B} 39
5. ABGrEYE::CBAN Y ) 40 m 41
(&) BCA (B) HZY
{01 YEX ) XYZ 18, (A} 101 (B) 121
6. AEL; QA . MEA: ? 11 @) 181
(&) AQTT (B AUO
(€ ROU iy FT0 mow 2 ® £
1 T
W 74200 7 5 3
; 1= Dy -
(A} 64 B} 72 c 5 { 5
2 46 ) B
R LR R 18, (A) Violet (B} Pink
a1 {B) 2
p o) g
) 8 D) T {C} Blue (D) Orange
9. 016:0:0016::1:02: 7 19. (A) Red (B Blue
(A1 00102 {B) 0102 (o Blak D) Gre
) 1020 (D) 10-20
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1.

Following waords follow a logical progression

ACE - TAB; COG - ADL); EAR - RAF;
GUT - TIGH;
Which of these could be the next word 7

{A) KID - BAL
(B) IVY -TAJ
{C) BOY-DOC
(0 TOO - SUy

Which of the following sets eontains correctly
matched pairs ?

(A) (Pulitzer, Cinema}, (Templelon,
Journalism), (Phalke, Religion),
(Kalinga, Science)

(B} (Pulitzer, Journalism), (Templeton,
Religion), (Fhalke, Seciencel, (Kalinga,
Cinema)

() {Pulitzer, Journalism), = (Templeton,

Sciencel, (Phalke, Religion), {Ealinga
Cinema)

(I (Pulitzer, Journalism), . (Templeton,
Religion), - (Phalke, Cinems), (Kalinga,

Seience)

irections : In questiond no. 22 to 26, a series iz
given, with one ferm mismng. Choose the correct
alternative from the given ones that will complete
the series.

22,

A v B F
) y If the father's age i 62 years now, then the
) T (D) E son's ape § years back was
(A) 10 years
23. BCZYDEWVFGUTH i (B 18 yeara
e
& Q@ B 8 (G} 12 years
(D 20 years
©J @1

ZYXABOWVDEU 7

| 24,
I

25.

26.

27.

2B,

8,24, 40,66, 7 88
(A1 76 {B) 72
(cy 70 74

1,2,8, 24,120, 7

{41 860 (B! 720
() oo D) 640
L8270

() a7 {B) 47
(€ 57 (D} 64

Which one set of letters when sequentially
pluced st the paps in the given letter serjes
shall complete it *

ab_aabb__Bh_
(A} abbb
1B) ahab
(C) baba
(D) baaa

1f 1% March is Saturday, then 1% April will
be

(A}l Bunday ll
(B) Monday |
1) Tuesday '
D) Thursday

A father aaid o his son, “I was as old as you
are at the present at the fime of your hirth.”
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30.

1.

33,

34,

From the given alternative words, select the
word which eannrof be formed using the
letters of the given word.

LOCALIZATION
LOCAL
ACTION
NATION
CAPTION

(&
(B
()
(4]

If DEAR is eoded as 6-8-3-21, how will )'0u|l

code TRACK ?

22-31-3-6-11
22-31-3-6-13
22-21-4-5-10
20-21-3-6-17

(A
(m)
(w
o

In a certain code, REDIP iz the code for
PRIDE. Which is the ward for AERDE in that
code 7

(41 CADRE (B) CARED
(C] RACED (D} CEDAR
Tx8 8x9 =11
Bol ey SR Ry

If 5 el 4, then
12x 1:_3 e

441 b
(Al 196 (B 225
(C) 144 i 21

Find the missing number,
4+ 4 =84
2ud=90
3+2=8
puz=7

[A) 218

(C)y 128

{B} 512
(D} 1024

Directions : Tn questions no. 35 to 37, seleci the
missing number from the given responses,

35, g\\//; 1 i g\\//}
35 126 ?
(A} 90 B 81
108 Dl 75
6. 9 ) Vi
4 7 7
7 & a
252 280 136
(A & B 3
o 2 o) 6

i 0 hE:J 12
13 15 2
18 ? 16

(AY JLA0F (B AT, 11
{€1 17,19 (B 18,17

88, A man drives his car 6 km towards West,
then turns left and drives 3 km and again
turne left and drives 3 km. Find out the final
direction of the man from his original
position,
(A) South-West (B} Morth-West
1] North-East D} Beuth-Fast

39. A teurist drives 10 km towards West and

turns to left and takes a drive of another
4 km, He then drives towarda East unother
4 km and then turns to his right and drives
5 km. Afterwards he turns to his left and
travels & km. In which direction is he [rom

the starting peint ?
(A} North (B} Enst
() Weat D) Seuth

AH 2014/Page 6
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40, Tive people are sitting in o row facing you. v | Directions : In questions no. 44 and 45, .ide_.ran’.r',l’j- the
i at the left of X, W ia sitling at the right of that beat represants the hip nmaong
2.V s itting ot ih gbl o A W | et
sitting at the left of ¥, If 2 is sitting at one
end of the row, then who is sitting in the | 44, Children, Serious, Naughty
middle ?
\
LAl ¥ ) X w (D |
Y )z o @ 0
41, Which one of the following is true ?
1. All men and wemen arve drivers.
. All drivers are men. (G
3. All drivers ure womern.
4.  Some drivers are women,
Ay 1 B 2 o
o 4 Iy 4
42, How many quadrilaberals are there in the | 45 'eacher, Painter, Dramatist
following figure 7
5 Pe—7—@
. I.;l}
e G
- O
R o © 00
(A) 6 (BT
() 8 D)8 (D} @
48,  Among the four answer figures, which figure
ean be formed from {he cut-pietes given below
in the guestion figure ? 46, Which answer fgure will complete the
Quentidh figure : puttern in the question figure ?
v—vq Guestion figure !
Arnstoer figures ; '
A} (B} {{s)] (m [A] (B (L83} (m
AH 2014/Page 8 SPACE FOR ROUGH WORK | 15 F74 % &g TR
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49, If a mirror is placed en the line MN, then
which of the anawer figures is the right image
of the given question fgure ?

hidden/embedded. Question figure :

M

47, From the given angwer figures, select the one

in  which the question figure is

Question figure ©

] h.

Anstoer figures :

Anawer figures :

SRR | el e Lo

(A) (B)

50. & word i represemted by only one set of
numbers a8 given in any one of the
ulternatives. The get= of numbers given in the
altarnatives are represented by two classes of
alphahets as in the two matrices given below.

48, A pieco of paper in fulded and cut as shown The columns and tows of Matrix I are

fumhered from O to 4 and that of Matrix IT

are numbered from 5 to 9. A letter from these
matricea cun be represented first by its row

below in the question figures, From the given
answer figures, fndicate how it will appesr

when opened, and mext by its eolumt, eg., ‘A’ can he
. represented by 00, 21, ete, and 'S can be
Question figures : represented by 58, 98, etc, Similarly, you
F— - have to identify (e set for the word given
Ll below :
""" 5] Al .
Matrix I Matrix IT |
olilz]a|| [ [s]el7]&]e
Anmper ey olae|Fle|L| [s[m[s|R[S|T \
1 B K ofT|julX
J/ O T 1jH T4 i} Q
O e = Eh zmfalc|rle] [7|wix|p UV
= Fay J3|D|E|F|ID|L 8lY[2)Y(Q
: alul1lslxlE EEW r|s
{A) (B} [{8)] m i

(A) 58,34,66, 0856 (B) 98,04, 66, 96 .
() 68, 34, 66, 76 (D) 98, 04, 66, 96
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42,

43,

44

485,

FOR VISUALLY HANDICAPPED / CEREBRAL PALSY CANDIDATES ONLY

Ihrections : In questions no. 42 to 45, select the

related word fnumber fram the given alternatives.

Paper : Tear - : Cheess: 7
(4) Dreak
{B) Smash

(C) Durat

(I} Crumble

Thermometer ; Temperature ; ;
Selamograph: 7

(&) Preasure

{B) Earthquake
i} Blood pressure

(D) Wind

15:62::@2% 7
(A6

(B) 10

(R ]

15

Rice : Food - : Cocomut 7

(A} Fruit

(B} Drink
(Ch Stem

(D) Root

Directions : In questions no. 46 to 48, find the odd
number from the given alternalives.

48,

47,

48

(A) 42
(B) 84
(cr 120
(I 63

(A) 21
(B) 14
c) &
o) 17

A 11

) 52

(D) 23

Chooze the eorrect alternative from the given
nnes that will complete the zeries.

AZYBEWCOVD 7

4 T

By G

iy D

D &
fd+8=—df;d+B=—27:6+6=—11, then
445m=?

(A} 16

(B] 46

€ -9

D) —4a

AH 2014(Page 12
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PART 1T : ENGLISH LANGUAGE

Directions : In questions ne, 51 {o 85, eomie parts of the senfences have errors and some are correct. Find
out which part of a setdence has an error and blacken the oval (B sorresponding o the appropriate letier
(A, B, G If u sentence is free from errors, hlacken the oval corresponding to {1)in the Answer Sheet,

51 Afive-men / enquiry commitiee was appeinted / to look into the matter. / No error.

L& B {Ci D)
52.  The erime rate increases inspite / formul moral education { given in achools. / No error
(A) B 1 {15)]
83, As soon as they / entercd the temple / they prayed to the gods on hent knees. ! No error.
A (B (c Dy
54, Three-fourtha of the men { has gone / to war. / No error
(A (B} ch ks
85, The conversation ! we are having is completely £ out of the main topic. | No error
(&) By {Ch {1 5)]
Dhirecti 21 Link L G |, sendeneas
: rw!u_-mn i guestions no .5 ta G0, sentencas qre s it sy et s

gtven with blanks to be filled inwith on approprinie popular and the cheapest means of transport,
wordis). Four alternatives are suggested for aieh A) become
question. Chaoze the corr.ecr alternntive out of the T
four and indicate it by blackening the PR riatE o e
oval (8 iy the Anstwer Sheet, (D) becoming
56. _She was aware of what vapgng 59. I left unattended, even a small cot can turmn

her father's mind, ; .

into &

(Al through [A] soar

(B+on (B} sour

() _in (€ sore

M by ‘ I} e
67. Most purents love and affection |80. My neighbour ia very for he

an their children, helieves that nothing good will happen to

i,

(A} pour

- [A) reasonable

() "

b (B} forward-lnoking

A puon (€] pessimistic

i} puol {BJ.—*ﬁpﬁmistic
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Directions : In quesiions no. 81 to 65, out of the
four olternmtives, choose the one which best
expresses the magning of the given word cnd mark i€
in the Ansier Sheet,

6l. Latent
(A} Hidden
(B} Expuse
(C} Obstruct
(M Confuse

62, Drwindie
(A1 Flourish
(B) Grow
(3)~Increase
(0} Decrease

68 Ameliorale
(&) Toappease
ABY Toimprove
{€) Tohumiliantg
(D Tomake excuse

B, | Ossify
(A) Make or hecome like a atone
(H) Make or Become like a bone
(C} Turninto plasma
() Turn into iron

65, Spurious
1A) Fictional
(B} True
() Particular
(I} Fake

AH 2014/Page 15

BDirections : In questions no. 68 to 70, choose the
word vpposite in meaning to the glven word and
mark it tn the Anmwer Sheet.

6.  Feleaso
(A~ Hide
(B) Bury
(21 Close
(D} Confine

67.  Clear
b&r Tmplieit
{B} Effulgent
() Nebulousfopagque
(1) Lueid

[ B8, Diserimination

IAY Bias

1B) Equslity

{2} Maotivation
(I¥ Replenishment

69 Endangered
(A) Protected
{B) Livening up
{C) Abundunt
(1Y Blissful

T0.  Maverick
{A) Dependable
(B} Conventivnal
{0} Redundant
I Old

FJ_r Answer Keysvisit: http://car eer s.aglasem.com/4941/ssc-chsl-question-paper/



Directions : In guestions no. 71 io 75, foer |
alternatives are given for the [Idiom/Phrase
wnderlined in the sentence, Choose the alternative,
which best expresses  the  meaning of the
Idiom | Phrase and mark it in the Answer Sheet,

71, The two friends are now at daggers drawn

over a pelly issue.
(A) angry
(B} frustrated
() enemies
(D} competitors
72, s work seems to he Mﬂ.
(A) endless
(B} diffienlt
(€ declining
(1) in his beat form

73, Coods will be delivered il you pay on fhe nuil
(A) pay within the given time

(B} pay the full amount

(Cf pay promptly in cash

(13 puy promptly

4. 1t people do mot mend their ways, Lhey are
2ure to go ko the dogs.

(A) tofight

(B} ti be ruined

{C) tobe united

(D) to be rough

75, Despite the doctor’s advice he still eals like a
horze,
(A) eats slowly

(B cats alot of food

() does not like Lo eat
(DN awallows his food

.AH 2014/Page 16
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Directions : [n guestions 76 to B
a purt of the sentence ts underlined, Below are given
alternatives fo the undertined part af {A), (B (C),
which may improve the sentence. Chonsge the correct
alternative. In tose no improvement is needed vour
answer 2 (D), Mark your enswer in the Answer
Sheet.

o

76, The girl illed the pileher for water.
(A} in

(B of

(0 with

(D) Mo improvement

77, Walk carefully lest you do not fall.
(A} lesl you might oot fall

(B lest you fall

(" lest you should sot fall

{D} Noimprovement

Please tell the story in & nutshell.
“tA) in nutshell

{B) in the notshell

(€1 in putshells

(1N No improvement

in

79, The housing p
™mOre erius.
(&) is beooming
¥ has become

{€) become

(1) Mo improvement.

If he would heve tried he would have
zucceeded.

(Al-had tried

(B} is tried

(€ was tried

(D} Noimprovement




In questions no. 81 to 85, out of the
four alternotives, e fich can e
subatitutad for the give

Bl. A palicy that segregates peopla on the hasis of
race
(A} Chanvinism (B) Theiam
{C} Apartheid (D) Partisan
B2,  Something which lacta forever
(A} Eternal (B) Youthful
(€} Martal (D1 Infallible
Bi.  The schedule of travel
L Itinerary (B Time-table
(Cy Travelbool: D} Guidebook
B4, Poem in shorl stanzaz narrating a popular
STy
(A} Ballet H) Epic
{C1-Ballad D) Sonnet
BS.  Design made by pulting together colowred

piecea of glugs or stones
A Tracery (B) Musaic
{C} Reliel (T8 Oleograph

Direetions ; In questicns no. 56 and 94, four Words
are guen in ecch question, out of which only ane
word is correctly spelt. Bind the correctly spali word
aagecd Ak your aneiber i the Ansivr Shoet.

BA 1A excesive (BF akenusive

(21 ekipssive D} exsessive
BT, (&) coreopraph (B erradicate

Cretrieyve (D} exasperrato
88, {A) if (B

] d m 1
BS.  (A) Machi (B) M:

(€1 M () Mk
90. {A) velurinary (P Velerinary

(0} weretinery

AH 2014/Page 17

(1) verptinary

Directions : In questions no. 91 to 100, in the
following possage, aome of the words kove heen Left
ont. fiead the possoge corefilly and choose the
eorrect ansuer 0 each guestion out of the four
alfernatives and fill in the blanke.

Superstition is

be explained by the 94 of nuture and &

91 in_ 92 ,which 93
o not by

@ superstitions peraon belicves

religion. For 95
that a hlack cat 96 _his path will Bring him B
Tn Brazil, for instance, many people believe that a
Persan ean be harmed or even killed by 98 needles
in & puppel u-}.dchi the perzon o be harmed.
Thig 1= ealled “voudoo-magic”. People wha do not

believe in_ 100 things consider them g tition,

BL. (A belicf iBi believe
() beliaver (D} belioves
B2, (A anything (B} something
{1 mothing i everylhing
B8, A will (Bl-will not
|3} ‘can (D} eannot
B (A) methods
U Tnwe
B85 (A} instant (B insistent
(C) instance {TH ineigtence
8. (A) crossing (B cross
(01 crosses (T erossed
27 (A} fortune (B) misfortune
(2} luck (D1 properties
98, (A7 pushing (B) drawing
2 sticking 01 pulling
89, (A} representa W-represent
C) poinls (D} pointing
100, (A such
W7 this




—
Forl Answer K

PART ITI : QUANTTTATIVE APTITUDE

101. The number hetween 3000 and 4000 which ia| 107. 8 men and T women can do A piece of work

exactly divizible by 30, 36 and 80 i
[A) 3825 (B} 0260

(C) 3500 (D) 3600

102, The greatest number of the fllowing

i \Ii 047, @7?
is
4 el
i 3 T e
e Sty
©r odf Dy T®
103, 2 4 | 31+'i_l+5E s equal to
&5 @ A
) 182 @ 15%
a 3
© 142 (o) 14
: F] 3
104. The aum of {16% of 24-2) and (105 of 2-42} is
(A 4114 B 4114
() 114 () G4114

105, The next number of the gequence

3,5,9,17,83, .. i
1A) 65 iRy &0
(C)r BO (D} 49

106, A certain number of men complete a plece of
work in B0 days, If there were § men more,
the work could be finished in 10 dava less,
The number of men originally were

108,

116,

112

in 34 days, The number of days required by
7 men and 5 women to do a piece of work
badce ag large is
(Al 19
27 -

B 21
(I 86

. If the rudius of the base of a cone he 7 em and

its curved surface area be B0 sq.cm, then
the valume of the cone is

(A 1233 cn. e By 1024 cu. cm

{C) 1132 i em (D] 1324 cu. cm

It one diagunal of a rhombus of
10 em, then thi other diagonal is

-‘x..
(A} 24 om B 20em 95

P
) 16em iy 3Rem L9

Twen sueceasive discounts of 10% and £U

equale a single discount of
(A) 30% (B 25%
i) 2H% (D 254

. After allowing g discount of 10% on mark

price a trader makes o profic of 15%. °
ratio of the marked price to the cost price is
{A) 23:9 (B} 23:10
iC) 23:18 (Ih 2319

&0 litres of o mixture contain milk and wate
in the ratio of 27 : 5. How much more water
to be added to get u mixture containing wmi
and water in the ratio of 3: 1 %

(A) B litres (B) 10 htres

() 18 litres (D} 20 litres

. In what ratic must 25% hydrochloric acid

mized with 606 hydrochloric acd to gel
mixtare of 406 hydrochlorie acid ¥

(A} a0 @) 40 (A} 512 (Bl 4:3
[ () 36 ) 4:4 By 12:5
i 3 12
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114.

116,

117

. Three years ago, the average uge of a family

Sriya with her family trayelled from Bolpur to
Suri by car at a speed of 40 kmvhr snd
returned to Bolpur at a speed of 50 kohr
The average speed for the whole journey is

) 44% lmihr

46 km/hr

45 2 kmv/hr
2

(D} 44-78 kmihe

of 5 members was 17 vears. A baby having
heen burn, the average age of the fumily is the

same today. The pregent age of the baby (in

vearfa) Is
|
Ay 1 B 1=
2
) 4 B3
A shopkecper purchasss. an article for

T 8,560 and spenide 3 50 on'it for it rephis
If he then'sold the artiele for ¥ 3818, the
percent of profit is

(AY 6% (B} 608%
(C) T-385% (D Ta8m
A tableds sald at T 1,800t a loss of 105 At

wehat prive should it he sold to earn a profit of
1587

(B) 1,890

I =T 2,300

(A} T 2,070

(O F 2,000

118

120,

121,

122,

128,

10 &% of % of B0 is the same ar 25% of 900,
then the vilue of xy is

{A) 30100

(B} 32500

(G} 28125

(D) 34200

A jowrney takes 4 hours 30 minutes at s
speed of B0 km/he, I the speed is 15 miz, then
the journey will take

(A} 5 hours

(B} 5 hours 30 minutes

(G} 6 hours

(D} 8 heurs 15 minutes

Mohan lends ¥ 500 to John and a certain
sum to Tom at the same time at a simple
interesl of 8% per annum. If in 4 years, he
altopether receiver T 210 as interest from the

twn, then the sem of meney he lent 1o Tom
WELE

TA) T 14475

(B % 148
Gy ¥ 166825

(M T 16550

If the ratio of the alkitudes of two triangles be
d:4 and the ratio of their corresponding

aress be 4:3, then the rafio of their
correspunding lenpgtha of hases is

(A} 1:1 (B} 16:9
icr 1:2 {8 21
Let A be the area of a square whose sides are

118. What percent of 16 hours i3 18 seconds ? 10 cm, Let B be the arew of & square whose
I diagonals are 14 em, Then A — B is equal Lo
Al B0% [ —
PR i 1A} 0 Bl 1
P - '-;'1(; . w2 o 4
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124,

126,

127,

128,

129,

8. The sum of all internul angles of a regular
polyzon whese one external angle ia 20° ia
{A) G400 (Bl 32007
iCr 28800 0y 1440
Two sides of a purallelogram are 20 em and
26 em, If the altitude corresponding Lo the
sides of length 25 cm s |0 cm, then the
altitnde corresponding to the other pair of
Rides is
(&) 105 em (Bl 12 cm
(G} 126 em (0, 10 em
It x+ L 20, then the valuoiby x%4 s
X xi
(4) 2 (Bl =1
e 1 D
I e+ b2 + ¢ ab—be - g = 0, then
A a=b=g (Bl anbi=c
(C) a=h2e D) d#zbwc
IF —xt —14 = 119,  then the values of
x
a 1
4 5 ame

PQRS is & square with side 10 em, A, B, C
and D are mid-points of PQ, R, RS and 8P
respectively. Then the porimeter of the
square ABCD ao formed is

(Al 1042 em (B) 2072 em

{C) 2647 em D] 1642 em

(A) + 10418
M =13

() 16413

) +13,13

130,

131.

132,

135,

. In A ABC,

I web?s=gm-b-o
valueof a+bee is

3 then the

AL 0 {B) 1
r -1 m 2
I x4+ & = ﬁ, then the value of
X
x‘m+x:“"+xw+xm+xs+1 i3
A) V3 iB) - 43
@y 1 o 0
In & ABC, BD and CF are perpendiculur to

AC and AB respectively, It BD = CE, then
AABC i

(A) Equilateral (B} [susceles
{2) Right-angled (DN Scalene
LZBAC=00° and D iz the

mid-point of BO. Then which of the following
relations is trae ¢

(&) AD=BD=CD
(Bl AD=BD= 20D
(C} AD=2BD=CD
(D) 24D =ED=CD

L In A ABE, < B =60° 2 C =40% AD is the

bisector of £A and AE is drawn
perpendicular on BC from A Then the
measure of « BAD is

(A} 400 1B 307

o 1w (m an®

Chords AB and CD of s vircle intersect at E. If
AE =9 em, BE =12 em and CE = 3DE,
then the length of DE (in em) is

8

= Bl 4
(A}‘] [B)
€1 8 a7
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186. Let () be the centre of a circle. A, B, C and I
are any four points on the eveumference
of the circle in the given order, such that
£ ADC = 130°. Then the measure of ~ ABC
and « ADC are respectively

(A} B5, 1157 (B} 657, 86°
(C) 115%, 65 (I 115°, 116
137. I ioa® 6 = aint 0 = ;, then the value of
1-2sin?0 iy
2 d
(&) (B &
3
€)1 Dy 0
oot 30F — cot T6°
138, The v — = TRy
8. The value of T Lat iz equal to
(A -1 (Bl 0
€)1 0y 2
139. If sin 8 + cos O = p and see & + ¢osee 8 = g,
then the value of g [pﬂ -1} ia
A1 Bl p
W 2p (D)3
1400 B sif(Ho = B =1 and cos (8o + )= %,
then the yalue of tanis is
o B 4
W
e 1 D) 43
141. The angle of vlevation of the top of o tower of

height 10043 m from & point at a distanes
of 100 m from the foot of the tewer on a
horizontal plune is
(A) 45¢

(B} &0

) a0 (D 22%"

Directions Study  the fustoprom  of wage
distribution of different number of workers and
nrser guesiions no. 142 to 146,

111

Number of warksrs —

e e mm o

=]

0 810 570 530 840 856 960 970 460 990 1000
Weelkly wapes —»

a0

142, Number of workers who earn more than

T Baltis
(A1 &l (By 81
iy 26 w16

148, Number of workers who earn less than T 950
is
[Ay 23
iCh 16

(B) 26
Dy 41

144. Tolal number of workers surveyed is
[A) 44 (B} 40
{Cy 49 (D) 34

145. The number of workers curning more than
T G40 but leas than T 960 is
{A) 15 Bl 16
(Cy 23 (DY 26

146. The percentage of workers who earn hetween
T 0E0to T 960 s
(A 255%
Q) 17-6%

(H) 20-4%
(D3 13-256%
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Directions : €. Nos. 147 to 150 are based on the
table given below which shows production of the
number of seooters by a compony during the first
half of 1992, Study the teble and answer the

guestions.
Production of 5 ters by a Comy during
first half of 1992
. Month [ =Y
Jan. |Feb. | Mar. [April| May |June
Type k |
X 25 | 26 | 18 | 40 | 20 | 16
Y 25 |27 |50 [ 45 | 30 |20
4 25 |27 | 46 |26 : 30 [ 20
Iy 25 (26 |25 | 0 | 30 | 35 |
Tatal [ 100 | 105 | 108 | 110 | 110 | 90
| | '
147. In which month, was the produetion of all
types of scooters the lowest
(&) January {B) February
() March (. June
148, In which month, did the esmpang produce
equal number of all types of scooters ¥
(A) Junuary (B} Margh
(C) May D) June
148, The total number of seooters produced by the
ciimpany, during the firat half of 1982 is
(A) 80 (B) 143
) 623 (o 197
150, In which two months, was the number of |
seooters produced by the eompany the same ?
{A} January, February
(Bl April, May
(C) January, March

(13} January, May

FOR VISUALLY HANDICAPPED | CEREBRAL PALSY
CANDIDATES ONLY
142, Which one of the following numbers is
diviaible by 16 7

(A) 53120 (Bl 12345
() 5ETE00 (1 10203
143. Which of the fallowing rulios is the greatest ?
F:B 2:7 B9, 445
(&) 2:7 (B} 3:5
€ 527 () 4:5
144. The simple interest on ¥ 4,000 for B months
and 15 days at 9% per annum is
(A] T 2,650 (B). T 256
{C) ¥ 2,650 (D) ¥ 266
145, In an examination, A obtains 48% of full
marks and B obtains 33%. If they together get
B67 marlks, then the full marks is
(AY 810 (BY 800
(0 10K oy 700
TR g e e e o
x 81s*
is
ik 2
B m 9=
{Fi¥] 5 (B 5
1 18
N B D) 9=
Gy 9 3 @D} 3
WA 2o el gt 221 C,
3 4 7
[ iB1 3
@) 4 Dy 26
148. The sides of a triangle are 4 em, 5 em and
T em, lts semiperimeter would be
| (A} Bcm {B) Bem
| () 16cm D 20 em
| gy e B
; 3 + %+ d5in” 29 Eaqial to
| —Beos? 7T
(B 2
oo

If 2ot B =6, then the value of
1WsinB-doos i |

iy

150,

2 com H — sin B
(A) 4
4

iB1 &
i &
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PART IV : GENERAL AWARENESS

151. What s meant by ‘Capita] Gain'? 156. Universal adult franchise shows that India is
{41 Part of profits added tn the capital Aoty il
(B) Appreciation in the money wvalue of it (BY. Socialist
A3Aets (0} Demoeratic (D) Soversign
(C) Additions ‘to the capital invested in a
business 157. How many fundamental dutics are there in
(D) None of these our Indiun Constitution ?
fA) 11 (B} 8
162, Which of the following listed is nof a feature Wy 12 m 8
of organic farming 7~
158. T ich year wa i-Defection Bill d
(A} The non-use of chemical fertilizers and "_:{‘}"ih 5 Pw:f. ol D.I, T e
peatividas by the Indian Parlinment
(B) Seil is nurtured for futme use by ey e LRe
maintuining micro-organisms () 1990 B 1995

(0 Use of gynthetic fertilizers
159. The World Trade Organisation (W.T.0.) came

(D) Very less energy consumption firien st
A) 18 (By 1983
1563. Which of the schemes of the Government of s ;
India makes Indian cities free from alums 7 iC 185 D) 1997
(A} Indira Awas Yojama 160, ‘Which Article of thie Constitution enjoins the
{B) Central Rural Sanitation Programme State to estublish Villape Panchayat ?
() Rajiy Awas Yajana (A} Artiele 32 (B} Article 40
DT Antyodaya (C) Article 44 D) Article 57

154. Indian esonomy is o 161, The word Buddha' means

(A} Mixed coonomy {A) A Conqueror
(H) Communistic economy (B} A Liberator
() Capitalistic economy (C) An Enlightened one
(D) Centralised economy {D} A Wanderer

165, Who is ealled the Father of Eeenomics’ ?
(A} Max Muller

162, 1817 iz knvwn for
(A&) Battle of Trafalgar

(B} Hurl Marx (B) Battle of Waterloo
(C} Adam Smith () End of the World War I
(D} Alfred Marshall (I The Russian Revolution
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163,

164.

166.

166.

169,

Who built the famous Vaikunta Perumal | 170.

temple at Kanchipuram ?

(A} Narasimha Varman IT
[B) Parameshvara Varman 11
(3} Nandi Varman IT

(D) Aporajita Varman

UN.0. was founded in the year
{A) 15 (B} 1846

iC) 1950 (D} 19563

The firat to invade India were the
(Al Aryans : (B} Grecks
() Persians (D} Arabs

Nivamgiri hill is lncated in Kalahandi district
aof

(A) Orisaa
() Punjab

(B) Weat Bengal
(1} Kerala

. A gydlone ocours when

(A) there ia low gitessure all areund

(B} there it a high pressure in the cenire
und low pressure around
{0y Ehere ie a low pressurein the centre and

high pressure around

(D} the pressure in the centre iz equal to the
preasure around

The previous name of Zaire was
{A) Benin {Hi Liberia
{C) Congo D Sierra Leane

The largest fresh water lake in India iz
(4} Dal Lake

{B) Bhimlal Lake

{C) Wular Lake

{D} Nainital Laka
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171,

173.

174,

175.

176.

The longest river in the world ia
(B} Nile
(D) Amazom

(A) Gunga

{C) Brahmaputra
The main function of palisude parenchyma in
leaf is
1Al T
(C] Respiration

(BI Coneucti
(I Photosynthesis

. The harmful substances produced by the

micTobes are known as
(A} Antibiotics
(B) Follutants
() Hormones

D) Tuxing

For immediate energy production in cells, one
ahould take

(A} Ghicoas

(B] Proteins

(0} Vitamien O

(D} Sucrose

T humsan hody, ligaments are made up of

(&) white fibres and some yellow elastic
fibres

(B} white fibreg only
{0y yellow fbrea only
(D} yellow fibres and muscle fibres

Which one of the following types of malaria is
pernicious malaria
(A1 Vivax

() Tertian

(B} Relapse
{D} Malignant

Wha wrate the bl ‘Systema Naturae'?
(&) Lomarck {B) Buffon
[C) Darwin (11 Linnaeus




177

178,

179.

181.

. The waves uaed in sonography are

A metal ball and a rubber ball, both having
the same muss, strike a wall normally with
the same velocity, The rubber bafl rebounds

and the metal ball does not rebound. Tt can be

concluded that

(A} The rubber hall suffers greater change in
momentum 188,

(Bl The metal ball suffers greater change in
momentum

[C) Both suffer the same change in
momentum

A1 The initial momentum of the rubber hall

ie greater than that of the metal ball

If the phase difference between two points is
1207 for a wave with velocity of 360 m/s snd
frequency  a0{ Haz, path  difference
between the two paints is

then

{4) lem
(%]

12 em

If a hody muves with a constant speed in
vircle

{AY no work iadone on it

(B} no force fcts on it

31 no acceleration is produced in it

(D} ita welocily remains congtant

(EN]

(Bl Infra-red waves

Micra waves

(G} Sound waves

DV Ultrasordic waves

Fifth Generation Computers are
(A} Data Progessurs

(Bl Hnowledge Processors

IC) Data Interprelers

(I Data Controllers
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186,

182, The Indiun SBupercomputer built by CRL,

Pune which ranked fourth fastest in the
world and meat powerful in Asia is called

(Al Virge {B} Param

iC) EKA (TN SAGA

A solution ia

(&1 a homogeneous mixture of two or more
aubstances

(B aaolid dissolved in s liquid
1€ asolid dissolved in water

I a mixture of teo liguids

The first organic compousd synthesised in the
laboratory was

(A Ur

(B} Uric acid
(%) Lactic acid
(D} Glucose

The bulfer action of blopd iz due to the
prescnes of

(Al HCEand NaCl

By €l and O3

(G CF and HCOR

D) HCOF and HyU0,

Which one of the following contains muximum
percentage of carbon T

(A} Castiron

(Bl Stainless steel

(C) Wronght iron

1D} High speed steel

. Which of the teliowing appenred to be with &

significant  polential  for  accumulation
through foed chaine ?

Ay DIT (B} Parathion

(2} Lindane (I Carbaryl




188, An earthquake is also known a8
(&) Teacher (B) Tremor
i1 Tempsar (D} Mone of these

188, Our ‘atmosphere is divided inte

layers.

(a) Two {B1 Three

(21 Four i Five
190, Lungs of a plant are

(A} Lesves [B) Stems

i) Flowers D Houots

191, Who has authored the ook
Narendra Modi : A Politieal Biography' ?

(A} Andy Marino
(B) David Irving
(€1 Jeffrey Dell
(D} Kingsley Amis

192, Who invented the electie bulb 7
(Al Thomas Mere
(B} Thomus Alva Edizen
0ty Jumies Wakl
{0} None of these

148, Who invented seroplane 7
4) Edisen
(B} Stevenson
(C) Hoffman
([} Wright Brothers

194, Who ia called Rawalpindi Express ?
(A} Sachin Tendulkar
(B} Shonih Alchtar
{1 Rahul Dravid
(D) Imran Khan
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titled

1896,

197,

. Mame the aldest Indian civilizution.

(A} Indus Valley civilization
(B) Mesopotamian civilization
{C) Egypiian civilization

(D1 Mone of these

Whe is the author of A Suitable Boy' 7
(A} Vikram Seth

(31 Arundhati Hay

() Ehushwant Singh

Il Mone of these

Who was awarded the first Rajiv Candhi
National Sadbhavan: Award !

(A JRI Tata

(Bl Mother Teress

[0y Morarji Desai

(D} None of these

International Literncy Duy is ohserved on
wihich one of the following duys every year
) 8t September

(B) 18" March

(€ 28" March

0 18" September

. Who smong the following Mughal rulers has

been called the Princs of Builders' ¥
(A) Akbar

(B} Jahangir

(1 Shah Jahan

(D) Babur

Name the American film cartoonist who
created Mickey Mouse and Donald Duck.

(A) Warner Brothers
(18} Walt Disney

() Steven Spiclberg
(D Hanna Barbern
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